Facit til kursusgang 1: Broker

1. Svarene er:

8 10 47 6
4’ 4’ 4’ 4
2. Svarene er:
21 2 4 127
3’ 3’ 3’ 3
3. Svarene er:
5 13 1
21 Yl A ]-; - A
4 12 3
4. Svarene er:
3 1 7 3 14 9
2’ 12’ 24’ 10’ 9’ 25
5. Svarene er:
3 1 5
47 ~ Y ]-1 -
2 4 4
6. Svarene er:
73 19
- _11, 5; 0! A
50 8 2
7. Svarene er:
9 1
—, 14, —
11 11
Svaret i c) kan fds ved felgende udregninger:
23-2 _23-35 23 213 6 1
8 8.3 11
3 $+1 3 $+3 3 5 3 2 11 66 11
8. Svarene er:
1 3 6 42 2x  2xy n 3
276 7 49 y oy V2 3m2V2
9. Svaret er:
1.
10. Svarene er:
3 -1
x+1, X+ 29, 2x+7, v, iy iy
2x 3x




11. Svaret er:

12. Viregner pa venstresiden og far

L1 p(5+1) 14
1-4 b 1_%)_b—a'
hvor b ¢ {0, a}.
13. Viregner pa venstresiden og far
%+1_%+%_a+b. a _a
§+1_%+§ b a+b b

hvor a,b # 0



